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1p 32 Kies bij    32    in alinea 4 het juiste antwoord uit de gegeven 
mogelijkheden. 
A controls for 
B doubts about 
C limits to 
D pressure on 
 

1p 33 “The idea of a humanoid robot is distorted by science fiction” 
(paragraph 4) 
What is this statement meant to make clear? 
A A truly all-round robot will not be developed any time soon. 
B Fiction has inspired researchers to start experimenting with robots. 
C Interfering with artificial intelligence is a rather risky activity. 
D People should realise that robots are already influencing our lives. 
 
 

Tekst 10 

 
1p 34 Why has a school in China come up with a ‘marks bank’ according to 

paragraph 1? 
A because bright pupils can now help out weaker ones 
B because poor students also deserve extra support 
C because students should take tests more seriously 
D because the present testing system is very demanding 
 

1p 35 What is the main goal of paragraph 2? 
A to describe how the ‘marks bank’ is set up 
B to point out the limitations of the ‘marks bank’ 
C to stress the need for the ‘marks bank’ 
D to sum up the advantages of the ‘marks bank’ 
 

1p 36 What is the point made by Huang Kan in paragraph 3? 
A Education should be more about stimulating students. 
B Education should focus on skills instead of knowledge. 
C The test results in China have been rather disappointing. 
D Written tests are an outdated method of assessment. 
 

1p 37 ‘double-edged sword’ (paragraph 4) 
Why is this expression used? 
A to deny that some students will abuse the ‘marks bank’ 
B to explain why cheating will increase because of the ‘marks bank’ 
C to introduce an extra argument that supports the ‘marks bank’ 
D to point out that there is a negative side to the ‘marks bank’ 
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1p 38 ‘giving opportunities to diligent students’ (alinea 5) 
 In welke alinea werd al eerder duidelijk dat werkhouding kan meetellen 

voor de ‘marks bank’?  
Noteer het nummer van deze alinea in de uitwerkbijlage. 
 
 

Tekst 11 

 
1p 39 ‘The risk of traffic accidents is being increased because of long grass and 

tall weeds blocking drivers’ views’ (eerste zin) 
 Welke zin maakt duidelijk waarom het groen niet op tijd gesnoeid 

wordt? 
Citeer (= schrijf over uit de tekst) de eerste twee woorden van deze zin. 
 
 

Tekst 12 

 
1p 40 Kies bij    40    in de tekst het juiste antwoord uit de gegeven 

mogelijkheden. 
A connected 
B fixed 
C important 
D irrelevant 
 
 

Tekst 13 

 
1p 41 ‘Why do paper cuts hurt so much?’ (titel) 

 Hoeveel mogelijke redenen hiervoor worden in dit artikel genoemd? 
Noteer het aantal in de uitwerkbijlage. 
 
 

Tekst 14 

 
1p 42 Welke reden om kooklessen op school in te voeren wordt niet genoemd in 

de tekst? 
A de jeugd laten ervaren hoe leuk het is om een maaltijd te bereiden 
B jongens leren dat zij thuis ook mee kunnen helpen met koken 
C jongeren stimuleren te kiezen voor een gezonder eetpatroon 
 
 

Bronvermelding 

Een opsomming van de in dit examen gebruikte bronnen, zoals teksten en afbeeldingen, is te vinden in het bij dit examen 

behorende correctievoorschrift, dat na afloop van het examen wordt gepubliceerd. 

einde  


